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4 This Question Bookle! contains 50 questions carmving equal marks. All guestions must

be attempted. Each question conteins four answers, aman them ong COrMEE] ANSWEL
should be selected and shade the comesponding option in the OMR sheet.
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Mr.ﬂﬂﬂ!mlﬁml by ticking the comoct answer from the alternatives given.
(50 ] =50)

1. Themspective ratio between the present ages of Fam, Rohan and Rag is 3:4:5. f the average
u{ﬂuiprmll;uuzﬂmmum“uldhmﬂmmﬂﬂmdhjﬁh

5 years?

A) 45 vears
By 55 yeans
Ch 52 yeurs
D} 66 years

2. [f4cxaminets can value a cortain mumber of apswer books in & diys by working at 3 hours
dhay, fior how many hours 2 examiners have to work in order to value twice the mumber of
answer books i 20 days,

Ay Bles
B) bhs
C) 75bm
D) 9hrs

3. The average marks of 30 stadents is 50, In respect of @ student who scored B, it was wringly
taken es 6. The comected averapge is

Ay BO
B) 60
C) 623
Dy 0.5

&  Theaverage of firet five multiples of ¥ is :
Ay 20
By 127

Dy 30
Sei- B [ET.O
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ﬁemdmﬂsmmunm#imﬂhmmmhhm
of the youngest child?

Al dyean

B} B years
C) 10 yesrs
D) None

What is 25% of 257
A) 00628

B) 000625
C) 0625

D) 625

&4% of a number is 2,597 What is 889 of that numibes?
A) 3,558
By 3202
C) 1El6
D) 3,564

tumhm'mﬂmriaﬁuu*wamﬂ‘-mmmu'Mmem
in thatcode?

Al OFPOMN

By OFSMPN

€} OFUMPN

D) CFLUNPM

Select appropriate alernative Smoke : Pollstion - War: 7
Al Victory

B) Peace

) Treay

0y Destructn.

Sei-B
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11.

il

13

4.

Seclect the best albernati ve Flow © River ; : Stagnani ; 7
Al Pool

B} Ram

C) Siream

Dy Camal

SCD, TEF, UGH, WKL
A) CMN
By UM
Cy VU
D) T

BICD,
Al RBICID
B) BCID
C) BCiD
m BT

BCD4, BSCD, BCaD

Pointing 1o & girl Abbishek said, “She is the onty girl child of my Father”. How is Abhishek's
wifie related 1o that girt?

A Mother
B Ami
€} Siser
D) Sister-in® law

Asnd B are murried couple X end Y are brothers. X is the brother of A. How is ¥ related to
Azwile B

Ay Brother - in- law
B) Brother

€ Son-in -law
I Cousin

Set-B [ETO.
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15, [fa person is 25% person in queue from one end and 36* person from the other end, what i
the tntal number of persons m e queve?

A 6D
B) 63
C} 65
Dy 66

16. Inaclass consisting of 50 stedents, A was ranked 12* from the top and B was ranked 26
from the boom. How many siudents were mnked between Aand B,

A) 13
B 12
o 25
D) 38

17. Inarow of 30 people facing north. ‘A" is 7™ from the extreme rishl end md "5 5 5 o th
left of A, what is the position of § from the extreme lefi end?

A) 12
‘B 19
)20
Dy 14

18. Rajupoes w school by bus. The bus goes straight 5 ko then tums befl and moves 5 ks an
|- ot last tnkes a right turn: and moves 2 kms 1o reach schoel. What is the dismnce between th
schoo] and Rajia's howse?

Al 15kms
B) 8.5 kms
C} 12 kms
D) Tkms

Sei-H
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Which of 1 following numbers is 4 prime number?
Ay B3
By &7
C) 29
m 9

Which s the smalles 3 digit number which is s perfect square?
A) 10,000
B) ' 10,220
) 10540
oy 10240

Half percent writien as decimal is
A) D2
B 002
o 0.005
D) 005

If the price of the commodity is increased by 50%% by what fraction consumption be reduced
#0 8 10 koep the same expendsture on its consumption’”

Al 14

B 13

o 12
m 23

The population of & town increases every vear by 4% 17 its present populstion is 50,000
them afier 2 years the population will be

A} 51,900

By 34,000

C) 54,080

oy 54,900

Set-B [RT.0.
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24. A borrows R, 40,000 for 6 months @ 1 2% p.a. imterest. The gimnile interest is

Ad Rad 000
B) Rs2,400
Oy RadB00
D) Ral,000

15, B bocrows Re. 25,000 for 9 months G & simple ingezsst of B% ps. He has to repay along
with imierest the following pnsourt.

A) Rs, 27000
B) Ra 26500
C} Rs. 28,000
D) Rs 27200

1. Apﬂ!nnﬂkﬁ:hﬂnﬂflﬂmg Il]&-ﬁp-.wm:ﬂimmﬂmﬂmdnd:.wh' fior b
years. The smount (o be repaid =
A) 24,0080
B) 24,200
) 24500
m  Nome

1. ?MQMam-whhmimmmrju.MImdls,ﬂw respectively. I P's share
of profit is 4,000 then ('s share of profit will be

Ay 1,000
B) 4,000
O 1200
D) 4400

28, In a parmership, M and N invest Rs. 8,000 and Rs_ 9,000 respectively, 1f the podal profit
F.s..'l-,‘lmi'hlilwmm';mﬁme?

A) Ra2400
B) Re2T00
€} Rs2550
D} Mone

Set-B
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Farm and fanmer ; court and?
A}  Engimeer
B} Lawyer
)} Police
I Teacher

Plane and Pilod ; ship and?
A)  Sailos

B) Driver

C) River

D) Sea

The head of pigeon had been with refill
Al Blows
B) Blow
€ Blown
D) Blew.

Do vou have book focussing on the music?
A} Some

By may

C) Te

D) An

They will be anew fopec i the next cliss,
A} Leam

[RT.0.
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34, Harvard urdversity 15 best university.

Ay T

B)
0
o

A

An
Moae

35, The doctor said, “1 will give the best meatment”, The indirect apooch is,

A)
B)
]
D)

36 A
B)

m

The doctor said that he would give the best treatment
The doctor said the best treatment would be grien.
The doctor declared that bis treatment is the best,
Mone of the sbove.

mhhhhhmﬂhﬂmﬁvmmﬂmhwmhm
appropriase term [Q.No. 36 1 38].

The modem Iuﬂwﬂhmnnﬂr_f:@__wﬂmh:hnhg}'.mlda
md:bih::;m{mﬁﬂmndil.wmhtﬁhgﬂhmmnfwm
theey wrrite 1o (37) sffinity to variows organisations on the ilermet however ane
ﬂmhﬂmii_ﬂ}_ﬂ&undishmningﬁﬂﬂhrmmpmtm
atd betiee do not undersund anything complesly.
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B
|

Rarely
Dy Daily
39, The passive voice for °T will tell her" is
A} Shewill be told by me
B}  She will be informed [y
) Shewill getto knaw |afer
Dy None of the ahove,

4. A shoremed verson of 3 larger work
Al Summary

SEES552
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4l.

UPSE examinasion is conducted to select.
A)  Teschers

Bl  Bank employess

) Defence stafl

D) Civil scrvants.

CLAT is o examination conducted to select the studenls for the following course,
A)  Lew

B} Chartesed sccommtancy.

) Technical studics

D) Manegerment Mudies

. Minimum qualification required @ be eligible 1o besome probationary officers in

Matonslised Banke
Al Gradustion
B Post graduntion

C)  Professsonal qualification
D) Technical qualification.

Minumum qualification required o eligible i he appoinied 2 police constables in Kamatake
Ay Closs 12

By Grachetion
7 Post Grandusion
Iy Mo

What least number should be added to 885 1o make it perfectly divisible by 47
A 4

B) 3
cy 7
ny 2

et = B
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46. Atwo digit number b such that ite product is 8 and if 18 i3 added to thal number. (e digits
get reversed, The namber B

A} 18
m 24
0 4
D) 81

47. The HCF between 60 and 72 is
Ay 1D
B 3
O 12
D 4

48, The LOM between 24 and 64 is
A) 192
B) 24
< 3
Dy &4

49. The sum of the two digits of a two digit number is 15 and difference between the two digits
i 3, The two digit mumber is

A) 69
B) 78
C 9
Dy 87

Set- B [T,
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58, The ratio of mcomne of A, H and C 16374 and the ntioof expenditure is 4:3:5 nespectively.
ITA saves R, 300 oot of Ba 2300, fimd thie ELVINES ]

A} 5B
By AT0
C) 513

[y 3%




